
Simple Cantilever Test 

 

20 by 20 section (A = 400) with 100 beam length (L) 

 

End load uniform pressure = 1000 , therefore load = 400000 (P) 

 

Using E = 200000     ,     End Deflection = P*L / (E*A) = 0.5 

 

FEA model made with 20 node brick elements and solved in Calculix 

 
 

 



 
 

 

 
 

 

 



 

 

 
 

 

 

 

Result Summary 

 

 

Number of        End  % Error 

 Elements  Displacement 

 

      5       0.4969     0.62 

 

    40       0.4973     0.54 

 

  320       0.4974     0.52 

 

5000       0.4975     0.50 


